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Alternating TMS combining nondeterminism conondetermoon

Nondet TM Accepts an input if some path leads to
accept

ComarketTM Accepts an input if any path leadsto
0

accept

1 X
a

Machine state will determine if it
is in a F mode or A mode



AlternatingTms Like regular TMs with potentially two
transitions from each configuration Every state

except accept reject is labelled with eitherF or V
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A configurationC is accepting if
C is in Gaccept

I If statelabelled by 2 then at least
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i If state is labelled by H then all its
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The connection goes the otherway too
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